Multiplication par Puissances de Dix (E)

Trouvez chaque produit.

12 x 103 = 89 x 10% =
73 X 10% = 45 x 10% =
54 x 10" = 100 x 10 =
42 x 103 = 38 x 103 =
13 x 10% = 60 x 103 =
68 x 10 = 27 x 103 =
90 x 10% = 9x 103 =

53 x 10°% = 40 x 103 =
79 X 10% = 63 x 10! =
4 x10% = 75 x 101 =
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Multiplication par Puissances de Dix (E) Solutions

12 x10*=12000

73 x 10* =7 300

54 x 10' = 540

42 x 10 =42 000

13 x 10* =1 300

68 x 10' = 680

90 x 10° =9 000

53 x 10° =53 000

79 X 10% =7 900

4 x 10%* =400

Trouvez chaque produit.

89 x 102 =8900

45 x 10% = 4500

100 x 10 =1 000

38 x 10° =38 000

60 x 10° = 60 000

27 x 10°* =27 000

9 x10°=9000

40 x 10° =40 000

63 X 10* = 630

75 x 10* = 750
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